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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Under the Keynesian theory, ‘Reference Line’ is a straight line passing

through the origin drawn at an angle of .
(Choose the correct option to fill in the blank) 1

(A)  25° (B) 40°
(C) 45° (D) 70°
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2. THfRad ol s ey STeaa i : 1
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fau T et o 3TTeties |, ffetRad § O gt foehed o1 === Fifse
(A) YT 1T E I FHIT 2 AT ¢ |
(B) U130 INFIT 2dA L |
(C) FAT1IMM2IAM AR |
(D) AT 1 A2 I ST E |
3. AT =TS o AU o1 HE&T 363 IqqH T T ohivgd AT § |
(kT <A1 g o foTq wiet forehed sl s fifsiy) 1
(A)  Torcfrr seqeH (B) et diqemt
(C)  RUIl T I (D) o3 HEAT 3{EH
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(A) YT 1T I FHIT 2 AT ¢ |
(B) YT 13IEAEINFIT2TAE |
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2. Read the following statements carefully : 1

Statement 1 : Marginal Propensity to Consume (MPC) refers to the
consumption per unit of income.

Statement 2 : As the income increases, the proportionate increase in the
level of consumption is always more than the increase in
the level of income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

3. The main objective of measuring the primary deficit is to highlight

present
(Choose the correct option to fill in the blank) 1
(A) fiscal imbalances (B) fiscal balances
(C) recovery of loans (D) cash grant-in-aid
4, Read the following statements carefully : 1

Statement 1 : Import of heavy machinery from Japan is a source of
demand for foreign exchange.

Statement 2 : Financial aid by International Bank for Reconstruction
and Development (IBRD) for landslide in Wayanad
(Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

5. In a two-sector economy, the Aggregate Demand can be determined by
adding and

(Choose the correct option to fill in the blanks) 1
(A)  consumption, investments (B) investments, savings
(C)  consumption, savings (D) savings, exports
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Fom2 . TS awE, 9 a&qQ Bl & S R WY Sl R g SUTHd
(subsidised) g 9T 3TASY TS ST # |
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(A) F9F 19 8 SRNFHMH 2 AT 7 |

(B) U9 13ITAEINFIT2TAE |

(C) HYT1IN2INEAR |

(D) YT 1 AR 2 T AT S |

9. forfervrar ¢ srorreft o 3faid, st oen, foresft fafma (e <t = divmerg
w9 9 fEd s gehdr 2 | (kT <A1 g o foTq HE fohcd 1 SRA hIRY) 1
(A) TR
(B) =
(C)  waifYra faxeft
(D) w@UHA
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6. Read the following statements carefully : 1

Statement 1 : The government may reduce the repo rate, to control
deflationary gap prevailing in the economy.

Statement 2: The government may reduce the deflationary gap, by
selling off government securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

7. To arrive at the value of Gross Value Added at Factor Cost (GVAFC),

must be to/from Gross Value Added at
Market Price (GVA,p). (Choose the correct option to fill in the blanks) 1

(A) depreciation, added
(B)  depreciation, subtracted

(C) Net Indirect Taxes, added
(D) Net Indirect Taxes, subtracted

8. Read the following statements carefully : 1

Statement 1 : Public goods are those goods for which the payments are
made by all the entities in the country.

Statement 2 : Private goods are those goods which are provided by the
government of a country at subsidised rates.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

9. Under the Exchange Rate System, the Central Bank can
control the foreign exchange rate in a range bound manner.
(Choose the correct option to fill in the blank) 1

(A) Fixed

(B)  Flexible

(C) Managed floating
(D)  Gold standard
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10. ffcafaa oMt — 1fyemeT (A) 3T $ROT (R) T g3 HifST |
Tt few U feaenedt 1 © ol faenea a1 == FifsTe 1
SYFIT (A) : TcaeT T FBAN/FHFAAT hl STTF/ATH I ST TIA fhT SITd € |
FRU(R): A& ol o WA 1 S TRl 31T SohTs WX TN Tl fohat ST
ghare |
IEETC R
(A)  3firEReA (A) 3R FHROT (R) ST T & 3T 10T (R), ANTHRA (A) 1 ot
TR |
(B)  AMHAT (A) 3R FHRT (R) THT T 8, ATk 1T (R), ATHR (A) it Tl
AT TET 2 |
(C)  AMYFAT (A) T ®, AfehT 10T (R) 3T 2 |
(D) AT (A) 3T &, Afehd RO (R) T T # |
11, 3T T STAFATA ol HH hid o foTT U Tk THTS T ST & |7
JY RO g U T e = e fog Fifs | 3
12. (&) [l 9 H U S % SReH il god-atdd o ¥ gefad el &
T sht ST hifsi | 3
STET
@) frafaRaa sreafies tee & smar w 3
@IS H)
v IHHTH GDP THHTH GDP
(YR Y ! FFal g
i)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000
2020 — 21 %! AR IY A Y, IY 2022 — 23 H IRATH Hohel BT TS
(GDP) T gfererd gfterd =it omT hifSte |
13.  (F) YTAH e WTd & Sd YSit @Td o [l a1 seehl hl ST hifT | 4
ITET
(@) T el d THREISH oFeAl H 3ia T FHIfNT | 4
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10. Read the following statements — Assertion (A) and Reason (R).
Choose the correct alternative from the options given below : 1

Assertion (A) : Direct taxes are imposed on income/profits of
individuals/companies.

Reason (R): The burden of payment of direct taxes cannot be shifted to
any other entity.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

11. “Taxation is an effective tool to reduce the inequalities of income.” 3
Justify the given statement with valid reasons.

12. (a) Explain any two precautions pertaining to the Value Added

Method of Estimation of National Income in a country. 3
OR
(b)  On the basis of the following hypothetical data : 3

(in T crore)
Year Nominal GDP | Nominal GDP (adjusted
to base year prices)

2020 — 21 3,000 5,000
2022 — 23 4,000 6,000

Calculate the percentage change in Real Gross Domestic Product
(GDP) in the year 2022 — 23 using 2020 — 21 as the base year.

13. (a) [Elaborate any two components of the Capital Account under the

Balance of Payments Account. 4
OR
(b)  Distinguish between Autonomous transactions and
Accommodating transactions. 4

58/4/3 # 9| Page %&% P.T.O.
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14. iR e ermgEes sTega i :
T I GEAT g it ue e o et TR € foh sreferaen o wmy A, fowet
T3St 3w e H, e e 31TE & | J8g 3T =X | a8 i, SATeien iafafedt i
TedTied S o foTT WiHifaer shrianfEat shl deshied ATI9HehdT shl YT hid! 2 |
fow 7T Ty qT G F % SR W, 393U skl AT hifSru {518 TR Hehfeeh

GHET Rl Sieh Tl o ToIT 33T el 1 2 | 4
15. U Hleqiieh srefenaed & foe frefcfiad =i amd ge, aH-5at 1 9 dqed 33 &
T T STTH ST ; 4

(i) TR I (¢) =% 50 TS
(i)  ©wid =d YaiRt (MPS) = 0-2
(i) = a1, = T 300 FE

16. (F) () TEAfcfad kel % SUR W, T8 N IUE (NDP, ) & e il

AGHH =T | 4
#.9. et afsr
RFISH)
() | TR 3T = 800
(i) | Eehel SATITER et gsfl fmior 150
(iii) | Toat AmamEty fafor faer 120
(iv) | ECRRT Sifam STt o 270
(v) | 3T ot fia aX smfeer 20
(vi) ‘II'IFI'FEﬁ (Inventory) IEEK] 50
(vii) | et GTesTeh fareT 130
(viii) | T e o 20
(ix) | TorceT & ST 37 e 3T (-) 25
(o) | T gft o1 3w 40

(i)  “3I o ThIF YATE o (9 (Disposition) TROT § AT § & qoh
FF A (factor income) HT YITE AlFATAd BIAT S |7
Y HROT d BY HAA 4G I | 2

HAAT
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14. Read the following text carefully :
According to a report issued by a research organisation, there is a sharp
decline in the overall demand in the economy, particularly in the private
consumption segment. This dip in the macro economic variables,
highlights the urgent need for strategic actions to stimulate economic
activities.
On the basis of the given text and common understanding, explain the
measure which the government may take to solve the indicated problem. 4
15. Assuming the following for a hypothetical economy, estimate the level of
Break-even Income and Equilibrium Income : 4
(i) Autonomous Consumption Expenditure (¢ ) =% 50 crore
(i)  Marginal Propensity to Save (MPS) = 0-2
(i11))  Autonomous Investments (I)) = ¥ 300 crore
16. (a) (1) On the basis of the following data, estimate the value of Net
Domestic Product (NDP.) : 4
S.No. Items Amount
(in T Crore)
(1) Household Consumption Expenditure 800
(i1) Gross Business Fixed Capital Formation 150
(iii) Gross Residential Construction
120
Investment
(iv) Government Final Consumption
. 270
Expenditure
) Excess of Imports over Exports 20
(vi) Inventory Investments 50
(vii) Gross Public Investments 130
(viii) | Net Indirect Taxes 20
(ix) Net Factor Income from Abroad (-) 25
(%) Consumption of Fixed Capital 40
(ii)  “Disposition phase of circular flow of income involves flow of
factor income from firms to households.”
Justify the statement giving valid reason. 2
OR
EEE
58/4/3 # 11| Page E’?ﬂ P.T.O.
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@) () O AT fF, uE Freufe AR A Fad AT FE X, YT Z E |
T a9 o g, Adraeen # fefafad dea frr e e -

(D H X ZRTEH Y %1 % 20,000 T HH Z i F 12,000 % &

LIGACEARCRIRIRIN

(I  %H Y SR %4 X %1 % 11,000 T HH Z 1 F 35,000 % 7o
1 forsh fora 77 |

(II1) H Z SN &1 31 ¥ 57,000 o T T AT S ITHIT %
ISISEEIRERIRIEIN

3T Qe o TR R STieaae H, TSR Jod T e Be 318

(GDP, ,,) * e shi UM shifef | 4

(i)  TorElT 31 W 20 T SFEAATAT & T T TRET STeEET H Hohel T
3c1E (GDP) 9 e R 9 It GHTferd THTe hl <=t shifSd | 2

17.  (F) 3YIH HEATCHS, AT T ARG G TTsRAT b fored® & THEATST | 4

@)  HEfafad T e SerE i

“TZT T I8 HR b AT I o GTH ol ol ST aTed] farfs=T wat
TS AT @ | I8 HTAT hl T bt J foref e Fiehie e shl S1wfd sar g |17

(1) T ITe e & STER W, qaT o Hehldeh Rl hl T i | 1
(i) 5T TRl af 31T T ol Gellelg, HIT | 1
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(b) () Suppose there are only three firms in an imaginary economy,
viz. X, Y and Z. During a year, the following transactions
took place in the economy :

(D Firm X sold goods worth ¥ 20,000 to Firm Y and
712,000 to Firm Z.

(I)  Firm Y sold goods worth ¥ 11,000 to Firm X and
7 35,000 to Firm Z.

(ITI) Firm Z sold goods worth ¥ 57,000 to households for
final consumption.

On the basis of the given transactions, calculate the value of
Gross Domestic Product at Market Price (GDPyp) in the
economy. 4

(i1)  Discuss the likely impact of construction of 20 new hospitals
in a country on the Gross Domestic Product (GDP) and
Welfare in the economy. 2

17. (a) Elaborate the process of Credit Creation using a suitable numerical
example. 4

(b)  Read the following text carefully :

“This function of money provides different items to be evaluated
against a common standard. It allows comparison of prices and
keeping financial records.”

(i) On the basis of the given text, identify the indicated function
of money. 1

(i1)  List any other two functions of money. 1

58/4/3 # 13| Page %&% P.T.O.
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18. UETH IS fob, fmAfoTRaad o & SI9-9T 1947 % 9T WRA o UTfehea™ sl Hfifaat o
GUTAT bt 217 7T LT 2 | 1
(A) e Siwa-frator Aifa (B) &idhifd
(C)  ATTd e (D) Tt sreferaer yoreft
19. U= HIfST for, WRa i arior ST gomedt o s 7 fefafga § 9 s-a1 e
AAT R |
@& faFeg w g Fifsw) 1
(A)  TEEAAT Wi A H, YR H Tk FaTE &9 & S arfior sifeh soreft s
T fepam e o |
(B) TR H UTHIOT SfefT SrTedt H og-Usie! €€ T U T |ikaterd & |
(C)  apft TTefior e, el o i T ofeh Wra # greior i somedt o %8
e e ¢ |
(D) 9RA ¥ Ui SR JomTelt IR €2 S o Hriey, s 9 qdaer &
Jiaiid F FATR |
20. TadAAT ST AT H, TG o e AT T g2m PECLRRISEIC T
fore <srrenfasftar wset feam |
(kT <A1 gfd o forq welt forshed sl s FIRSY) 1
(A) 8
B 7
(C) 6
D) 5
21. Tordll foiy woeT & T W, WAl oY ferferer fomet o1 Sedte % farferefiertor
FETH THETICETE | Tk T <Rl qfd o foTu Wt forehed s = fifsiy) 1
(A)  wEAl
(B) &N 3IcUmEH
(C) & Et
(D) TSR
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SECTION B
Indian Economic Development

18. Identify, which of the following does not indicate the similarities in the
policies of India and Pakistan in the post 1947 period. 1
(A)  Dual pricing policy (B) Green revolution
(C) Import substitution (D) Mixed economic system
19. Identify, which of the following statements is incorrect about the Rural
Banking system in India. (Choose the correct option) 1
(A) In the post-independence period, a well-structured Rural Banking
system was formulated in India.
(B) Rural Banking system in India consists of a set of multi-agency
institutions.
(C)  Regional Rural Banks, Cooperative and Land Development Banks
are few important components of Rural Banking system in India.
(D) Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.
20. In the post-independence era, the policy makers of India pushed for
‘self-reliance’ for the first Five Year Plans.
(Choose the correct option to fill in the blank) 1
A 8
B) 7
C) 6
(D) 5
21. Production of diverse varieties of crops rather than one specialized crop is
known as diversification of
(Choose the correct option to fill in the blank) 1
(A) crops
(B)  agricultural production
(C)  sectoral composition
(D) employment
58/4/3 # 15| Page %&5 P.T.O.
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22, UEAM FINT o, Tateror o it o ey § Fefriiad o O Shi9-01 e orae T © |
CHAEEIR EARCRERCA IS
(A)  HHYA IUAY AT
(B) TS TGN AT
(C)  SfIg 91T W
(D) Sfter shY TurerT =Rl TE AT
23. TR ol 1 Sageeh 3Tega shifsT : 1
F9 1 AN Qe e, SIS ol G o SUR o &9 H 118 o =1 sl s
7o ST AT £ |
FY92 . =IAqH e 4o (MSP), SR N H9ehi o fadi <l 181 o foe fuifa
foRaT ST 2 |
feu T sherT o 3TTeties |, FfeiRad § O gt foehed o1 =R Shifse
(A)  FHAT1HT 8 AN FHIT 2 AT 2 |
(B) U 13HIE INFIT2HAR |
(C) FAT1IM2IA AR |
(D) % 1 3R 2 3T T & |
24. A e foh, v sreleawen fomr foreft Sfaa Usim & s/aedl & gfg &, arfas
Hhel T{T] 3cd1E (GDP) H gfig 1 Reerfa s e st &1 € |
TR v ©, et feerfa a0t i FET TR |
(kT <A1 qfd o foq welt forshed 1 s hIRSY)
(A)  TTHREH
(B)  3HIU=TG
(C) =i
(D) TSR forde
58/4/3

# 16| Page E%%



“®collegebatch.con

22. Identify, which of the following statements is incorrect about the
functions of environment. (Choose the correct option) 1
(A)  Provides resources
(B)  Absorbs wastage
(C)  Sustains life
(D) Deteriorates quality of life
23. Read the following statements carefully : 1
Statement 1 : The Food Corporation of India maintains buffer stocks of
wheat and rice as a measure to improve market
mechanism.

Statement 2 : Minimum Support Price (MSP) is imposed by the
government to safeguard the interest of farmers.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

24. Suppose an economy is experiencing a situation of rise in Real Gross
Domestic Product (GDP), without any corresponding rise in the
employment opportunities.

In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank) 1
(A) casual
(B)  informal
(C)  formal
(D)  jobless
EEE
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25. fImfafad oMy — 31feRed (A) 3T RO (R) o1 3T <hifSTU |

Frer few 7Tt foreredt | @ w2t faered o1 = FifvT 1

R (A) ;. THE ATEEHE TS o STcateren [fawT 4 5o st wat bt gfaeadf s
T T |

FRO(R) . T3sit & 3 Seare ot T[urer o RIS Sfceaeicaendr H Ifg i &
ST ATZEH TTH H HEweIqol §H sl fohaT o |

IEETE
(A)  AMYFAT (A) 3 FHROT (R) SFT T & 3R FHRT (R), ANTHR (A) FT Tl
TR |
(B)  3frred (A) 3R ROT (R) SHT T 8, AAfehd FR0T (R), AMFHAT (A) &1 T&t
RATAET 2 |
(C)  AMYFAT (A) T ®, AfehT HROT (R) I R |
(D) AR (A) 31T, AR FRT (R) TT = |
26.  TIFTRIT ol o1 SagEeh 3Tega HINT : 1

FIT1: AR R % TSR o forg forfeer Hifaat e of |

FIT2 . AT o A9 f&dl o fore, forfesr smeent 9 vyra &t eArenfie-gt=mr &
forermer W s hfrsa fRam e |

feu 7w oM o 31T |, fEfafad § 9 gt foshed o1 = s

(A) FHIT 1T ANFHAT 2 I ¢ |

(B) HIT1IATIEANFIT2TAE |

(C) FIT1IAR2TN AR |

(D) AT 132 AT TS |

27. fmafcRad et — sifisaT (A) 3R HROT (R) T 319 hifT |
T fow U foeneat 0 © Ol faenea 1 == HifSTe 1
A (A) : A Ysit H e # forereryel fofr o & foie g=mr qewul Jfivss
i 21
FRU(R) : N 2 TSR o 314 &1 S8 {787 T TaTees o o H {1 9TH
& fofu fFemr i € |

IEET

(A) 3P (A) 3R FROT (R) THT T & 3R FHRT (R), ATHAT (A) FT et
AT |

(B) 3R (A) 3T FHROT (R) ST €T &, AR BROT (R), AR (A) it &l
T TET 2 |

(C) AT (A) HT &, Afohd HI0T (R) T # |

(D)  NTRAT (A) 318 B, AfhT RO (R) I & |
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25. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative from the options given below : 1

Assertion (A) : Excessive regulation of permit license raj prevented
certain private firms from becoming more efficient.

Reason (R): Private sector wasted a significant time in obtaining
licenses rather than enhancing product quality and
international competitiveness.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

26. Read the following statements carefully : 1

Statement 1 : The British policies were accountable for commercialisation

of Indian agriculture.

Statement 2 : In the larger interest of Indians, the British rulers focused

on the infrastructural growth of India.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

27. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below : 1

Assertion (A) : Information plays a crucial role in judicious
decision-making about investing in human capital.

Reason (R): Individuals invest to acquire information about the labour
market and other areas such as education and healthcare.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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TR H TRIS o 3gWd o TTg FSTeiar sl sht STt i | 3

&)  “forfeer s % i@, R & raRker ATfs IO T AHAT AT YT,
TGoh I1 HHTEH I 99 HuaT {57 gdiaig fohu Tu 9 |7
faw T e <l o TateRToT g e shifse | 3
3T

(@) 1991 % GERI H WRA HEHR R ST 15 T 1Tl Sl HTATh HITSTT | 3

faQ TU 7T 1 eATEeh TEIR I F FHHfeRad St o TR a1

s i & Figa™ SEEat & Ifd-3a 8, o4 7 Teha dar A IR i off | 38 A
%Wﬁﬂﬂ?ﬁ(couples)qﬁaﬁﬁ@ﬁédldW%Qﬁ&?ﬂﬁﬂ?ﬁﬁr@ﬁIE'H
i = = ot SEEA gfe i FRIRE w H gerT o |

39 Aifd % "l g off I 8, S TR gaT i e, T
STIHERAT & o IO T ST Te Uohel a1 o ToTQ AT ST 3T |
2015 H 39 Hifd # <ict <t 78, Foree qeft et st &1 Har YT A shi SAwid e T
oft g 2021 | 3 3R fI1Tret ohteh oI Gl aeh o feam |

%ol THeATR, Sfeifeh Gt M Aifd 3 Seean gig s HEhia s o 7o gt
A& I TH TohaT o, Ui 6 SIHETReAeh 3 WIS <Al 31 G Stieed aqg |l
Icq ToraT forerent g =i ST i s @ 2 |

() = ke a i o FrRI-aE o TR SRl FHETET | 3
@) = H U GaW i o AT o fohE Tk HROT T Seoid i |

@) @) A S iifdes i § S T i | 2
(i) T & § CLPGY 9 MR A9’ kT gl foehE Iiw e & forg
IGINT <Rl ST ITedt Wi o &9 7 Jofg hifsg | 2
AT

@ () Ui YRd H gEW-EE (micro-credit) HEHHI HT HTAHIHS
EEIET IS 3
(i) G foeme o 319 &1 Seci I | 1
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28. Elaborate the reasons responsible for emergence of poverty in Pakistan. 3

29. (a) “Under the British rule, India underwent systematic economic
exploitation with its resources and wealth being diverted to
Britain.”

Justify the given statement with valid explanation. 3
OR

(b)  Appraise the Navratan policy adopted by the Government of India
in the reforms of 1991. 3

30. Read the given text carefully and answer the following questions :

In response to the problem of rapidly rising population, China introduced
the ‘One Child Policy’. The policy restricted couples to having only one
child. This policy helped China to limit the population growth.

This policy led to significant consequences, such as an increase ageing
population, gender imbalances due to male child preference and social
challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children
and further relaxed to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of
controlling population growth, it also created a complex set of
demographic and social challenges that China continues to address

today.

(a) Explain the consequences of implementation of the One Child
Policy in China. 3

(b) State any one reason for the implementation of the One Child
Policy in China. 1
31. (a) (@) Distinguish between human capital and physical capital. 2

(i1)  Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve
sustainable development in rural areas. 2

OR

(b) () Critically appraise the micro-credit programmes in rural India. 3

(i)  State the meaning of sustainable development. 1
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32. U T 5, Ioi F foreqa e shifsi o fforftaa svem we & e oo
F) Sifdek &N, T KW FAEE H OAHT TR W IAMGd Sk AT

gfereefue s =T Tk |TE Y8 it ¢ | 2

(@)  9Rd H FRIee % SFAATATNRIHTT I3 o JATHT o 7e YA GSi o Al 0
fafi= arei dafg Fr 2| 2

33. (&) () “1991 % IWid &Y T WG GHR gRT A918 T8 fafvasr fifa @

TRAT STIEET HAT ATHTIaId 88 & 17
=T k! g T MU el Rt el 7 Wed i | 4
(i)  SRIok (Tariffs) 9 12T (Quotas) H S TIT HIfVT | 2
T

@) () 1991 % 39T FATY H YR TR FR AN R 7 forefizr & o e
1 dag & ==t A | 4
(i)  =guaft SR o f5-vaflr SR A Sia v il | 2

34. TmfcRad e st eayes stera hife
AT 2| ST HAEIU o SRS oh JTEAR, ToTd ©: a1 §, YRR 27 TSR Hehdehl H
AT AT & | 2022 — 23 T SUSTIRI & = F 3-2% B TS & | FEaA § el 9
ufgerst it wrfiert # gfg & sHiferhia  <ifires amieT 1 am 33M % STae T
TC R | HFdl USTIR 31Tohe forcfia o 2022 — 23  wwfoq fafmior & 9 3=t 1 qwid
& 39 1Y € ISR ¥ Ifg 9 @i o1 foear affafaa
forTa wier at 3 EPFO % i 3[4 oa ST ot aTet GRT & AT 81 T &, <1t foh
Ty ok o Sfu=nTieh UsHIR T Hehd 2 |
TUTETYUT USHIR S L o U 1T T o FIT SN-SEEhoT o q@vTet Srefeeree
& 2T TS faehed |
few T T T T I 6 IR R, FEferiad et o s e

(F) R FHEAe H g1 88 a1 9 HiSeAT WHIIEH sl hIg Ueh Wawel S8y | 1
(@) R H TOEEel USTR G5 o STRMSHE A4 S aTel el 3t &0 o6t
g T | 2

(M) 3Yh IETELT hl HERIAT § o SISHTR] o 37 sh foReqel samed shifsie | 3
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32. State and elaborate whether the following statements are true/false, with
valid arguments :

(a) Organic farming offers a means to substitute costlier agricultural
inputs with locally produced organic inputs. 2

(b) Informalisation of workforce in India, has increased various
concerns on the front of employment generation among the youth
of the country. 2

33. (a) (@) “Indian economy has hugely benefitted by the disinvestment
policy adopted by the Government of India in the post 1991

period.” 4
Defend or refute the given statement with valid arguments.
(ii))  Distinguish between Tariffs and Quotas. 2
OR
(b) () Discuss briefly the financial sector reforms undertaken by
the Government of India in the post 1991 period. 4

(i1))  Distinguish between Multilateral Trade and Bilateral Trade.
34. Read the following text carefully :

Indian labour market indicators have improved in the last six years, as
per the Periodic Labour Force Survey Data. The unemployment rate has
fallen to 3-2% in 2022 — 23. Rising youth and female participation in the
workforce present an opportunity to tap the demographic and gender
dividend. The factory employment data exhibits the bounce back of the
organised manufacturing sector in FY 2022 — 23 with rise in employment
and the upscaling of factories.

The net payroll additions under EPFO have more than doubled in the
past five years, signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care
economy are two promising candidates.

On the basis of the given text and common understanding, answer the
following questions :

(a)  State any one significance of rising youth and female participation
in the Indian workforce. 1

(b)  Identify any two sectors which may be highlighted as promising for
generating quality employment in India. 2

(c)  Elaborate the meaning of disguised unemployment with the help of
a suitable example. 3
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